Practice Problems S3

. Find the matrix of the reflection in the line y = —x.

. Find a rotation or a reflection that is equal to

(a) reflection in the y-axis followed by rotation through 7/2;
(b) rotation through /2 followed by reflection in the line y = .

. GivenT([1 =2]") =8 4TandT([-2 B5)F)=[-1 4]F, findT(—4 3|7)
if T is a linear transformation.

; Considelr a, Markov chain that starts in state 1 with transition matrix

i
A
5.3
(a) Explain why the chain is regular.
(b) Find the probability that the chain is in state 1 after 2 transitions.
(c) Find the steady-state vector for the chain.

=10 1
. Find the inverse of A= | 1 1 0 | using the adjoint formula.
=] =11
3 =1 -2
.Given A= | 5 5 -2 |, find the (1,3)-entry of A™1.
Lol



8. Solve the following system by Cramer’s rule:

r+2y=4
3xFTy =187

Recommended Problems:
Pages 80-81: 1. b, c; 2. a; 3, 4, 5, 9, 10, 12; Pages 101-102: 1, 2, a, ¢;

Page 11: 1. ayb, £ g b, k; L, m, 1. ofip; Boar B 6,00 8 9. 31003, 14, 410
Page 126: 1. &, ¢, 2. a, b, ¢, dif 3, 4,6, 8, 9N
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